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(MODERN INDIAN LANGUAGE)

Full Marks : 100

Pass Marks : 30

Time : Three hours

The ligures in the margin indicate full marks
for the questions.

Q. No. 1 carries 7 mnrk each

Q. No. 2 carries 75 marks

Q. No. 3 cafies 70 nwrks

Q. No. 4 carbs 5 marks

Q. No. 5 cades 7 mark each

Q. No. 6 urries 5 marks

Q. No, 7 carries 8 marks

Q. No. 8 8 9 carry 6 marks each

Q. No. 10 carrbs I marks

Q. No. 11 carrics 3 nnrks each

Q. No. 72 cmries 2 narks each

Q. No. 13 carries 3 marks each

Q. No, 74 canies 5 marks

Total =100
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Frqfrfur 6rqi{r +l qdqr{ ss* +i frs rrq y*ii *'sm dfrq , '.'- -
qrzr <T {q .i E aq t-og,
qr( t a rot gq nz d Tdt,
*{ qrffir <cr-EE qi q1 3i{ {drsr

Wtqq*aqevril
<rar-qrrq-frtno t qt qrt?

t, qrg"ii 6 {-+r rr qtr
qrc G {& q-tm t Yrfi ssrq{ ui gs,
dr grc Ai +) s-{i

IFt:
0 FTqrfr * srq Bt{ tz
@ ifmsrsRqneqGt?
f,i, {e a,P+ t iFrr vrqT o'mr qrrt t?
64 '* "trg.ir 

* {-or rr qrt' - sts i isr d q-o?

(u) g;t e-d t qr gq-zi * teq eq gs tz

z. fmFefua rrsi{r B} q-6fr{ Ts* rt+ frs,rq vrir }- et-< *fuq : 15

cRferff.f qnq *s-dln-qtr{ i qE€Wi TFrfi fflirfi tro"fr o.fi qi* q{ i
w q-({ Erfi d sTfr t f+' qk qocr dg tdr t 3tr ssh f{slq 41 rrfr qst,.6

d qrfi tr q€ \ftfplftdi t rr< qn d-em tr qo ftqft arfr i-< *fi t qq rq
qftftqfilif 61 3Tqi scr Er* di ti t, B-{"1Tdrm 6nR s-t til trqR rq
qt qn d fd6 qRt€{frzf A 6qrfr Ers t fr f{qq t iqqq qftfurrdzfi fr 6q 6cft
qrf t ffi( rfr E{ s-+-fir6{ qk I {frfi.yrfff t fuqo ctf,fld cRReftA
q1 oTqi er{Ta e=lr t t ct orsd *q d EqRr srq-qr eTrffk{etq 6, 1"q* tr6fr

rq qS q q6 effi ot fr mq{r ql v+t tr eTr<* ft1 f6'qd eir sc+r
TS *fi-{qrq d f{sq keror tr

r{trt :

O qRfelftrd * Erfi Ai qr qk ct +r veil-q qsat tz
(u) qim qftferffii qi o-q eTci erJ:[a E-{r es-dr t?
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fi,, frsq t fqqq qfinaft{il rfr ffiq frqR d E{ f{sff,(,rfi a'T qrfiz

/iri qk 41+dr-{qrq g 6n f+r+ fffidr t?
(u) rltlM i5I qs, tsEfff Wq-{, <nsqr

1ur7 tmtefua v-dt + srQi fofigq :

Erfi Et{r, erm's, frqq, ffidl
1ra4 ffirnff vt< frfuS :

Bqr'r, gan, erqa, koqg

/urt, lr€liv t t fto vcq qras efrqr

3. ffi{fud fr t ,hp? qa frqq ql fnqq lafuq :

q.6"_ffi)

2

2

I
2

2

2

lo
(q) erii6,-qR

(Tfudr-qkisrqR or erel sil{ 6c_qrd eft oriiqqK_qFrrdr ql yr{
ekiq,-sq-sc{i6n)

(s) cRrc strildr qi ii"fl t
1 r1k*r-vR*r A erffiar_qft ryq t fu*.rs_erq_w{q_6R)

(r) di? 6r q6q
(Tfr-ql-d€ * ranr-d-tr q-r rCe_arq_qirqq

(s) rt-€ frqtur C aereii ql drrEIT
(rtFffi-n;€ Frqiur +r errf-{-€ ql ,frr_r,E B-iem n m,TEH_sr{i6R;

4' (s) &i-Itdfu q-.6fr.{6'ni + cft fiidr arm ort gq 6rf rf qa-*ornq r{+ {cr6*- }.qrq \'fi c-d lofuqr s

(€) sTrq+ A-d t {dr * foq q+ cl+ ffid 6,{i + fdS TR frrrq 3Terfift
e1 qq;.r* fcfuqr s

s. ffikr c[i * Efi qifqq :

(i) {qn-qrtqq ffi fi-6il t?
(ii) ffi+ Wn qqrsrq-+r*rqftfuqr

/ri, {qrirR q* q1 qrqr td ++ qrtrs?
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/rul tdktr{ f*e e-fiR 6r qflisR qPaq }7
(u) iffiq ffi 6-6t t?

6. tml gwo-t-or 613cdrFRr qr gen oirfro rqa +iFqt
StsIdt

(u) 'q5r.rrR fr 3fi1 qsrrrq'fe6rq q{ qfr lhtq{ rqa dtuqt 5

T. Frqf€fud 6rqi{r q} q-6fi sqh dA fqs'rn wfr t gtt frfuq : 8

16y *l+m qm Esr=r t fsfs{ + {6Ii
6lqdr 61 scn qEIr frtsqt qr sri
qret $-at
s{I q(, gtT q{
*'fudr *.iq a.n Esi b qri
ts .kcr 

qt qri?

gFT:

(t) rqil 6,tqisr +. sfq *{ qfddr 6'r rrq fdfuql 2

(u) '+,kdr +1 seFI qcil Bqr qr vfi' - 3{qrq Hsz 61iqqt 2

164 'ufcr qir.seFI t ftfsqt *- qdri' - * qrraq t qfr qr q,fir sr6t t ?

2

ful 'e61 fi61
{s q{, sq qt' - t +fq ffi efltqrq {dr{qt

SIStdf

(u; 'qq61*- erffi 81ffi *ffidr - fid{ fr{ffi t
6q-+{ eh sIqFI ffit d G t qret z16

g"ccafr 6rfr s'l s{fffqdr gti'fr t
{6drfi {-6flfr sld{dr ecqi{d rd tfi t It'

qFq d dH rfr grr*tr g:u ttr t? 2

qB B1 ener mr*t qtt ers{q dr d.ri t? 2

q'fq ,{Fd6q + cfr edf ort{ifs( t? 2

'qtorfi sCdrfi qr-dTdr ecsrrd rd tfi tlt' - srq se olteqt
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8. ftqfdfud n t 6ra?qa'srqin el qafi sq.hfrA f<q{sc{n *st-t {f,srq:
6

(6.) 's{ri x}t d .nc qr e+qrft-s t?
fr enq dt elqrfac t?
encsr sTcrt6qr{ fr g'u ttr frm
ttttz
(*c{r fturS qfr sqr Eqrl

d fr qaes enq-+r go qr t
qd qdEq sE gq qff{s
461 nfr qqrnl'

9PA:

(t) rqd {flin *' qrq ffi qt Y-qnr etFqt 2

@ 'erqfi ervttesq{ fr Ss tdr dTr tdr t?' - {s trte * v{r t (tE{h +
qr+rq {qldqif *1ff,q qnfu*,d141<slit t? 2

6iil {q set{l + qft d eTrfi m fefuqt 2

Srqzn

(rql gq-a tudi 616.t{ t{n-d?
n A* ffi te( riqd?
q6 c*l ftrferd Hfir q( 41,

,{w r{ ii f+ac<t tt
ffi E-d-q€fr aear tt

Yf;t:
O 'I{i fiTdi e1e.t{ fd66?' - 6E &m i tsr qre +if ssq ftt tz

2

(iil sB 4di 3fld =iqtrdl erl tdr tz 2

6i4 e'reivr *, frr€'rd ffi vi tcqqfr +1fuqr 2

s. frratofuantffiAv*if *'rtn{fsc: 3x2=6

(q-) qk q.r ql{

ns t dcr gur at+t
(31.fr trdI cgr t) - wq-q He a1f:qqt
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(E) td qd, .re.[d c-d, re5 6-6],
q"61q$ mtsr

mrq d n-ffii qel r qr6cl,

*.q+i qrfr iqqn q trsrr
- qq Hq 61f.lqr

(rr) 'orYrn d fds Efr( + Efiq d Eqi
Ereitqq111frtTS,is-,ffi'
- eqd +'rqin i smrel6r \rdr E-<{ Esc n-s-c +fr t - 616 +1fslt

(q) 'o't{ r{trs 6-fr t orqt
qq qr ets qd frq ,nnr'

- 6fq i dlc qr Etq di * sft i o-o tz se qltqqr

1s. FTqfufud n t 6ra? qa' rrfli{r 4l .rr*t sst {-+ f<q rTS vrif * rt< {flsq :

8

(+.) cTfi # .,'v cr +S qrr frfi snml Eo'rqr dr qs gq em ft qq{ d
Td onfr efi l*'sE qrir sf{ crd B1{rfi +.m t fr d'r qti Ea-n qffi
t 5m-gr m-rfi rsr ${r crfr sreA 1R-tR tr-t g+ cr flT iiist tr ffi fr{q
qt-qr{ t qrfi +1rtcr +1flfr slfd +fi t w n-e h;riqMi trdft
+t-tr t l€ iq e1 t'tt u wn {s r-6RM t E qfr tffi{r s+t t A Cs 3Tci

tds cni dt {fr.f,r Ai? Hl grd x fi qrfr cq o'ott gil tr=rd
qr vs crcis tr eiqlE{qrs trti 6 sitrE{Erq * +nq rq eii-di t frEg
,r< etr 16n q{ aql

IFt:
0 'crfr q1 snw .R +S em fr+l en+,t fro rrq d' - t€m, i {vt +if *'a

tz2
(O t€o. i ffi crfi ft1trq ecqrfr s-6r tz 2

6r, l-<t t-tr *. ftiq n fu-*. 6r ffir Effiur t? 2

6ul tq+ qrm ql Tdrm dk erfift 6r {e qnq ffi qrtr tr 2

(E) frftq * E€ir ql qtrrd-dr iu-+.t q.d-fi *'f+ii i srrfl t*. ts-sfir ss-$E
q]qs tt zt6 *[€ trgqh s-d tc+ re-na eti t fucqNtif +f{+-d sTri

c{ fi rt{H r-6 ffi | qq ?F6 tq qe-qt fusfr{, tii+qrfi sd q6l'rd
fi ti irE a-*'i st rtt tr e{d + erlur $ qqq qq qrft T{erd gq-
q* t qCtoa Etfi T6fr t, frfis * $ri Fd Sft in6 €98-.srt refr trgi
E{iit ts-+,t s-q tndr ol eK qR onfi t, S ffi r+n qq} 6 t,q *1
rEqnt ort{wsils rfrc}q *drre€ qmr qrc+tFr*rerd til a-e ils
qi roil tr
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sFr

0
(u)

(iit)

Rrfrq * =rq po q}r vfr mr g{ri.Fail + yfr tqr q{6R tz 2
frrtq + Ed srh so} * ernq d wr ? 2
frrfrq *. q-d silr oTrgfrffi tdpii *'es{rq if Eqr nrq M rrsar t?

11.

t2.

(iu) q.B i ffi st{ Hi qcdfi q,lEfr *1 rp 6F-6r t ?

Frqfufua fr t fiFaf ar s{.i * srr fifrrq :

(o') qrwn irr qtvTrsq{ dH at r q-.erA t Z

(s) ercfi tkr * qms *1 dr ffirdreif or se+s anifrq r

(rr) dtf,*. or dr * rmi qr Hr y,+rq vear t ?

(q) qfiFqr i fuq frfr I sTrfr d t wr qq-fo idi
(v1 fu*' i frrfrq .nl Wqn m.rimfr o{qqn eT oar t U

{ffi gwfr (t{dm ; clrrt-2 )

firqkfira q t fird d yrfr *'sm dfcq :

2

2

3x4:12
3

3

3

3

3

2x2=4
(o') qqilEn 6n{ffi srtr-Tr qRqR Ai + qrq5 fr w.i *} ergr qr d orlrrd

o-{A t?
(s) qltqn uqffi qqrfud q?

(rr) 'erda q (n frq' qra fr Ednsd frs W ET qutr fifqql

13. ffi A w-fr *'r+t {tqq : 3x2=6

(q') frtg Err& fr1 qqTI qra' GF*a 3i{ qgqffi €rzrdl sfi t' - se oliqqt
(q) wtq{r <q *1 saq} qt qd 3{h v{l=rdl qr dq oq etcr t I
(T) $mfr-d an1 qo-fir*r$ qq€ql m qotq qifqq t

14. 'ftig-er+or fti qfr ssFT ql6d-dq t, "il tre-frNil qr qd-tlvd q *fi-{
qqrq-tfrf, sttt' - ts*. i tsr qfr oar tz 5

wrct
qqilE{r <q *1 qd *1 qrRtffi ffiu-drcif q{ n"rrvr etfuq t
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